BEASHET) [(£54] * RERIRE (REH > 0.5)= 615 20244 FIFHA  ~ 20244 H123HA 20242A28A ()  ~ 2024411817H(H)

E0) BAIsR | BAR | B | B | &7 Z ® B | ®H | m& | KA | 7TEF | 0% | E=R ggﬁ WRAT | HATER g_f :g 7 Eg o7 $g o7 WAR | Smik 5ﬁi 53R | T | WBR | KA | 8IS | EAT 9; o7 mjg 4%;; 'k | BABEF iz 5 :3% K/BB | WHIP [ MVP
LEISNE 3.20 10 1 3 1 4| 250 0 0 19 2/3 88 78 8| 366 15| 192 7 5 0 3| 137 71 320 1 1 1 15 7 45 1 9 0 1 0 0 3| 114 112 3
L 0.00 1 0 0 0 0 - 0 0 1 4 3 0 0.00 0 .000 0 0 0 0 0.00 1 9.00 0 0 0 0 0 3 0 0 0 0 0 0 ol 000 100 0
LB HE 0.39 9 3 0 3 0| 1.000 0 0 23 85 79 29| 11.35 11| 139 8 3 0 0| 0.0 3] 117 3 0 0 1 1 38 0 1 0 0 0 0 2| 967 061 6
AR BE 4.50 1 0 0 1 0 - 0 0 2 8 8 0 0.00 2| 250 1 1 0 0 0.00 0 0.00 0 0 0 1 1 6 0 0 0 0 0 0 0 -/ 100 0
KERK 2.74 17 8 1 2 o .889 0 1 46 208 | 194 25| 4.89 46| 237 28 12 1 5 098 1| 215 2 1 0 25 14| 106 2 15 0 0 0 0 2| 227 124 6
KA EX 0.00 1 0 0 0 0 - 0 0 2 7 6 0 0.00 0 .000 0 0 0 0 0.00 1 450 0 0 0 0 0 6 0 0 0 0 0 0 ol 000 o050 1
M f 0.78 5 2 1 0 o .667 0 1 23 109 92 18| 7.04 16| 174 11 5 0 0 0.0 15| 587 2 0 0 12 2 49 0 9 0 0 0 0 2| 120 135 4
W KA 3.02 4 4 1 13 0| .800 0 0 83 1/3| 353 328 53 572 68 .207 41 12 1 14| 151 16| 173 7 0 2 42 28| 184 3 20 0 1 0 0 6| 331 101 15
WA 7 0.00 1 0 0 0 0 - 0 0 1 5 3 0| 0.0 1] 333 1 0 0 0| 0.0 2| 18.00 0 0 0 0 0 1 1 0 0 0 0 0 o 000 3.00 0
i B 0.86 25 11 0 1 10 | 1.000 0 0 63 262 | 228 71 10.14 29 | 127 18 9 1 1, 014 28 4.00 6 0 0 16 6| 117 0 11 0 2 0 0 3| 254| 090 9
3 ER 0.00 1 0 0 0 1 - 0 0 1/3 4 1 1| 27.00 0| .000 0 0 0 0| 0.0 2| 54.00 1 0 0 0 0 0 0 0 0 0 0 0 0 050 6.00 0
e 52 2.25 10 2 0 2 3| 1.000 0 0 28 123| 110 16 | 5.14 23| .209 13 9 0 1 032 12| 386 1 0 0 14 7 59 3 9 0 0 0 0 3] 133 125 3
n EH 4,66 23 2 7 3 5| .222 0 1 77 1/3| 354 | 332 36 419 92 .27 59 23 0 10| 116 13| 151 6 2 1 57 40| 183 1 19 1 0 0 0 8| 277| 136 11
R BFE 3.50 34 9 4 4 7| 692 0 0 87 1/3| 403 | 333 53 546 66 .198 45 11 1 9| 093 52 536 15 1 2 56 34| 181 7 26 0 0 0 0 1| 102| 135 9
B AX 0.00 1 0 0 0 0 - 0 0 2 12 11 0 0.00 4 364 2 0 0 2 9.00 0 0.00 1 0 0 6 0 5 0 2 0 0 0 0 1 - 200 0
Bif 5 4.57 18 3 3 1 1| 500 0 0 41 1/3) 205 179 22 479 48| 268 37 10 0 1 022 21| 457 4 1 0 33 21 96 1 12 0 1 0 0 4| 105| 167 3
Heh (= 3.80 38 5 10 1 7| 333 1 1| 106 2/3| 500 430 94 793 88 .205 68 7 0 13| 110 53 447 13 2 2 77 45| 212 2 31 3 0 0 0 6| 177| 132 14
H2 BT 2.10 11 3 0 2 1| 1.000 1 1 30 131 111 23| 6.90 17| 153 12 4 0 1/ 030 14| 420 5 0 1 15 7 56 4 11 0 1 0 0 3| 164 103 6
B ffh 6.55 6 1 1 1 1| 500 0 0 11 56 44 10| 818 5 114 3 2 0 0 0.00 11| 9.00 1 0 0 9 8 24 0 5 0 1 0 0 o 091 145 1
A A 1.80 3 2 0 0 0| 1.000 0 0 5 21 20 7| 1260 5 250 3 1 0 1 180 1 180 0 0 0 1 1 8 0 0 0 0 0 0 ol 700 120 0
&1l KA 1.93 13 3 0 0 5| 1.000 0 0 28 127 118 30 9.64 26 220 21 4 0 1 032 8 257 1 0 0 17 6 51 1 9 1 1 0 0 2 375 121 4
BE SR 0.00 2 2 0 0 0| 1.000 0 0 4 16 13 5 11.25 1 .077 1 0 0 0 0.00 2| 450 1 0 0 0 0 7 0 0 0 0 0 0 ol 250 075 1
HE RH 6.04 14 3 3 1 2| 500 0 0 28 1/3| 138| 117 21| 6.67 29| 248 20 6 0 3 095 18| 572 3 0 0 25 19 59 2 6 0 0 0 0 1 117 166 6
EEaRaN: 1.17 12 0 0 3 6 - 0 0 23 102 78 14| 548 8 .103 8 0 0 0 0.00 22| 861 2 0 0 6 3 53 1 2 0 1 0 0 1| o064 130 2
KA EA 2.87 19 3 2 3 2| .600 0 1 69 315 | 279 35 457 67 .240 49 10 2 6 078 30 391 3 0 3 37 22| 154 4 18 1 0 0 0 7| 117| 141 9
KE FEH 3.86 3 1 0 0 1| 1.000 0 0 7 36 26 8 10.29 4 154 4 0 0 0 0.00 9| 1157 1 0 0 4 3 12 0 2 0 0 0 0 1| 089 186 0
=K K8 4.15 6 0 1 1 3| .000 0 0 13 57 50 1 069 13| .260 9 1 0 3 208 6 415 0 0 1 8 6 32 1 3 0 0 0 0 3 017 146 2
LA BB 0.00 1 0 0 0 0 - 0 0 1 3 3 2| 18.00 0 .000 0 0 0 0 0.00 0 0.00 0 0 0 0 0 1 0 0 0 0 0 0 0 -| 000 0
Wi g 318 29 7 4 1 2| 636 0 0 79 1/3| 348 | 318 50 567 83 .261 49 23 1 10| 113 12| 136 14 2 2 a1 28| 1711 2 12 0 0 0 0 9| 417 | 120 8
EE A 0.00 1 0 0 0 0 - 0 0 1 5 5 0 0.0 1 .200 1 0 0 0 0.00 0 0.00 0 0 0 0 0 3 0 1 0 0 0 0 0 -| 100 0
oA 3.38 6 2 0 2 1| 1.000 0 0 10 2/3 55 4 5] 422 10 213 6 4 0 0 0.00 5 422 2 1 0 12 4 22 1 9 0 1 0 0 3] 100 141 0
EERIS 3.07[ 362 77 41 46 62] 653 2 6 917 1/3] 4140 3644] 637 6.25] 778 214 525 162 7 84 082 375] 368 95 11 15| 530 313] 1944 37 242 6 10 0 0 81 170 1.26] 123




